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Section A: Non-calculator

There are 15 marks available in this section.
You must not use a calculator in this section.
You will have 30 minutes to complete this section.

1. Work out 2.109 + 0.98
2.0 9
+ 0.980
2 .08 ¢
Answer | &  0O%9
[1]
2. Work out the difference between —4600 and 8000

000~ (- 4 boo) = BOOO + +600
= 12600

Answer |2 OO

[1]

Questions continue on the following page




FSM_L2_EP_PASTPAPER6

© Training Qualifications UK 2023 All Rights Reserved

3. Round 7.5385 to one decimal place.

Use your rounded value to estimate the answer to 30 000 x 7.5385

Show your working.

7'5;:’:)%5 ~ #.5

Answer

2295 00O

[2]

4. Work out 72 (40 + 4)

B: (4o+y) =10 Z*xIo
T: #%*= 49 4a xlo
D: X

M: 49x lo =490

A X

5%

Answer

490

[2]
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5. Ashley needs to cut a piece of wood as shown:

Ashley thinks angle A will be 140°

Is Ashley correct?

Show how you decide.

Not drawn to scale

Ans\e_s on s-l-ra\sh'\’ line sum +o |8

180 — 56 = 130 = A

Answer

No, I120°

Questions continue on the following page

[2]
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There are 300 sweets in a box.

6.
There are:
e 52 chocolate sweets
e 150 strawberry sweets
e 98 lemon sweets.
One sweet is chosen at random.
What is the probability that the sweet chosen is a chocolate sweet?
Give your answer as a fraction in its simplest form.
.
57 choc sweets S5 T A3
- = S
2300 swests o\\-\osc;\'\\er 200 _ > 7
-4
13
Answer /?_5
[2]
7. A steel block has:

e mass = 7850 grams (g)
e volume = 1000 cm?

Work out the density of the concrete block.

mMassS

&\CX\S'\{’,\‘J = volame

3289

o0 O

- %Sg/cms

]

Answer 7(&5 j /cms

[2]
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8. Enkai needs 2.5 litres (l) of water.
The jug Enkai uses measures in pints (pt).
Enkai measures out 4.5 pints of water.
Does Enkai have enough water?
Show how you decide.

Use 1 litre = 1.759 pints

\. /59 %x 2.5 =(1.754%2) + (1#5%0:5)

©0.87295 8
2 [179590 = &%3975 Paa
| . 759 3.518
)(2-000 i 0.#95
4'.39%s

2.5 3

gz

Answer | HeS, L. 3A4FS pints

[3]

End of Section A.
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Section B begins on Page 7.
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Section B: Calculator

There are 45 marks available in this section.
You can use a basic calculator in this section.
You will have 90 minutes to complete this section.

1. Write down the mode of these numbers:
8.375  8.400 8.000 8.750 8.500 8.375 8.725
ooy
Answer | ¥ 325
[1]
2. The diagram shows a triangular prism:

Not drawn to scale

6 cm

Work out the area of the base of the prism.

Area = 6 X155 = 90 em®

Answer 0 cm?

[1]

Questions continue on the following page
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Nilam wants to buy a new laptop.

Nilam finds these offers for the same laptop on different websites:

Website A Website B

% off 34% off

Which website gives the bigger discount?

Show how you decide.

% _0.325 =075~

Answer || .l ke A, DF. 5~

[2]
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Use this formula to convert 15 degrees Celsius (°C) into degrees Fahrenheit
(°F):

F-5C ., 30
5
c=197¢
_ax!o
5

Answer 59 °F
[2]
Charu normally sells cakes for £4.00 each.
Charu raises the selling price of each cake to £12.00
Calculate the percentage change.
reose
7 .:Jr\oJ\Sc_ = 1 % |00
° or‘j‘no.x PV‘C(
= ! R & X 0O
4
= 2002
%

Answer 2 QO

Questions continue on the following page

[2]
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6.

Sasa wants to put a picnic table in a garden.
The table needs to be:

¢ in the shape of a square with side length 0.5 metres (m)
e 1 metre away from the fishpond.

Draw a possible position for the table on the scale diagram below:

I1cm

Scale 1:25

1cm
«—>

] 4 S‘i“ms: IW\

’25%0"15 :O'S’“

Fishpond

[2]

10
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Frankie needs to order 400 cupcakes for a party.
Frankie needs to order lemon, strawberry and chocolate cupcakes in the ratio:
9:4:3

Frankie thinks there will be 100 more lemon cupcakes than strawberry
cupcakes.

Is Frankie correct?

Show how you decide.

L S C

Q.43 9+4+3 =16

ZI-OO-.- |6 = 25 225—186 = 125
9x26= 225 rore lemen  Hhon
4 x 26= 100 Stromsberey
3x 25= 1O

Answer |\, |25 wmere

[3]

Questions continue on the following page

11
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Drew is a manager of a company and needs to set the budget for next year.
This year there was a budget of £980 000

Drew increases this budget by 4%.

Drew thinks the new budget will be less than £1 020 000

Is Drew correct?

Show how you decide.

980000 X I-O% - F ol9q 200

Answer | Ves, £ ©19 200

[3]

12
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9. Dayo needs to paint the outside of this cylinder, including the top and the

bottom:

60 cm

—>

Y
t ——

Not drawn to scale

80 cm

v

N—_

Dayo thinks the total area to be painted is less than 20 000 cm?

Is Dayo correct?

Show how you decide.

Use m=3.14

Area of = 2 wxTU %X r*

c,tro\c.s _ 2)(3',4)(3())(30

:5652.6"\7-

+r
circumperence. = T < d’:"me; 1% %D e
= 3.4 X660 =

C,\Nf\"“) orea = BBt X %OQ
- |5 OF2 cm

2
ThAa\ orea =1507F2L =+ S&52L = 20 F24%cm

Answer N , 20 724 cm™

[3]

Questions continue on the following page

13
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10. On Monday, Arya got a new TV package.

On Tuesday, Kai got the same TV package but got a 28% discount.

Kai pays £21.60 per month after receiving the discount.

How much more does Arya pay for the package?

[——O-Z%‘—’O~7‘2

Or‘ij'\hcﬂ p\"\c.e_ X O 32 = -EZl-éO

2° _ £30

Ohs'\h al price =
o.7F2

Differonce = 30-21-6= E£.40

Answer -E r @)

[3]

14
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11. Cam is setting up a new fish tank.

The fish tank is in the shape of a cylinder:

m
Height of tank v

120 cm

Not drawn to scale

N

Cam uses this formula to work out how many pounds (lbs) of gravel to add to the
tank:

Amount of gravel in pounds (Ibs) = volume of tank divided by 4546

How much gravel does Cam need to add to the tank?

Use m=3.14

VOlWﬂC_ — crewar oreax 120
MXr*xI1z2o
= 3-|L}XLI'0"L‘O><[20

=602 %30 en>

Amour\t of 3r’owe,\ = 602%80 - ysy4é

=

132,617+ Los

\\

Answer l 32 ) 6 Ibs

[4]

Questions continue on the following page

15
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12. Quinn wants to buy a new computer for £3000

Quinn paid £1500 into a new savings account two years ago.
The savings account paid 2% compound interest per year.

Quinn uses all of the money that is now in the savings account as a deposit
towards the computer.

The balance will be paid in equal monthly instalments of £119.95
How long will it take Quinn to pay for the computer?

Show your working.

|. 02 o depos't

MU]‘HPI\'CT
oq % (.02 =f15b0 .60 (aFteS 2 dwé-)

| So00 X |

froo06 - £iseo. 0 = E1439 %0

ot
£14+39. 40 ~ ENN9 - 95 = | 2 equal mendhly pogym s

Answer | | 7 months or | Yeal
\

[4]

16
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13.

Jude grows sunflowers in two different fields.

These are the heights of each flower in Field A:

Field A

134cm | 186cm | 120cm | 200cm | 118cm

166 cm

This is a summary of the heights of each flower in Field B:

Field B
Mean height 162 cm
Range 70 cm

Jude claims:

a) ‘on average, sunflowers grew taller in Field A’
b) ‘the heights are more consistent in Field A.’
Are both of Jude’s claims correct?

Give reasons for your answers.

Show your working.

Field A |3+ | g6+ 20+ 200 + 18 + 146
Meon = y4

an:f,-’—‘- 200~ 11868 =%2cm

=S 4em

Reason - claim a)

No - maen \f\e-'\j\!\‘\' for F

eld A is lower then picld B

Reason - claim b)

NO ! r'alf\je_ ot Fl

\d A is ama\—cr Han Fn’eld 3

Questions continue on the following page

[4]

17
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14. Zuri wants to put a wooden border around the flower bed shown:
2 ft 2 ft
Not drawn to scale
1.75 ft 1.75 ft
251t

Zuri measured the dimensions of the garden in feet (ft).

The shop sells wood in metres (m).

Zuri will buy 12% more wood than needed to allow for mistakes.
How many metres of wood does Zuri need to buy in total?

Use 1 foot = 0.305 metres

Pc}"\h’\du" =242+\.FS+2.5S+ |.F5
= |0 ¢t
C,or\VCfJ(' Ft—}m

3. o5 x| 2= Hl6m

Answer 3 4| &

[5]

18
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15. Jordan wants to tile this floor:

41m

A
v

Not drawn to scale

41m

Jordan finds these prices:

Price per square metre (m?)

£80.50 £75.99 £50.99 £60.50 £100.00 £45.75

£100.00

Jordan buys the tiles with the median price.

How much will Jordan pay in total?
Give your answer to the nearest pound (£).

Show your working.

Answer box is on the following page

19
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Areo ((:loo(\ = Arca of SqUeI= + Area op i od'\jlg

= (q.lxu.lv+('4><q_.|x3.4)

23.73 X =5.99 = E| 207 o222

- F|g07# to nearest PO\.M‘\OA

Answer | £ / 307‘

[6]

20
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This is the end of the assessment.




